ZEIS2T

Y4 BATINLE B

a —9' J _75~/7° W S .AR5-20$ @AR5-30
W==F17-YU—X ¢20-¢30 s Y ey Y
W 2525—R-YU—X ¢40-¢50-¢60- ¢80 ] j‘f’l [\,
W R\igmU—X »40-¢50- 960 o e i ==

@AR5-30

@AR5-30

- L] K —L‘)-—'
" s ,%FL
H - 1 S Q‘
b L d Tl i &
g d =SSty
e ] E
5 | 5 | |
b L
1D ol 10
F

—
J—tp iIS R
AR5-20 75 I ‘ o

H=5> 7R~k
| =705 T =k

%:_IT
|
-~

UV I HE

=]
S
Z
b2l
~
1|
(o

AR5-20 £xJE

H=077#—h
| =725 T R—h

@AR5-40+50+60+80

@AR5-40-50-60+80

e —K—L
g - |
R =
ey ety
Y Y
ﬂ N INEh
\
ez N <
W 4% - AR
m & fi % |A|B|C|/D|/E|F| G | H I | J|K|L|M/N/O|P|Q|R|S |T]|U
AR5-20R (L) |17,200| 96| 67| 48| 4| 10| 20 M20X1.0|M5X0.8|M5X0.8| 9 | 25| 5/ 14| 15| — | —| — | —| — | — | —
AR5-30R(L) |25,200| 96| 67| 48| 4| 10| 30|M30X1.5 M5X0.8|M5X0.8| 9 | 30| 5| 14| 15| —|—| — |— | —|—|—
AR5-40R (L) |28,400|115| 81| 60| 4| 11| 40|M40X1.5 M5X0.8|M5X0.8|(]15| 35| 7| 18 15| —|—| — |— | — | —|—
AR5-50R (L) |30,000167|115| 90| 4| 9| 50M50X15|/Rc1/8 |Rci/8 |[119| 50| 8|32 25| — | —| — | —|—|—|—
AR5-60R (L) |36,400 167|115 90| 4| 9| 60/M60X1.5Rc1/8 |Rc1/8 |[119) 60| 12| 32| 30| — | —| — | — | — | — | —
AR5-80R (L) 47,000 226|159|120| 5| 12| 80|M80X1.5 Rc1/4 |Rci/4 |[J25| 75| 15| 41 35| — | —| — |— | — | — | —
AR5-20RF (LF) | 25,200 98| 69| 48| 6| 10| 20 M20X1.0/ M5X0.8/M5X0.8| 9 | 25| 5| 14| 15|12 | 5 2-6.6| — 19|35 | 50
AR5-30RF (LF) | 33,200 98| 69| 48| 6| 10| 30 M30X15 M5X0.8|/M5X0.8| 9 | 30| 5| 14| 15/ 12| 5|4-6.6/ 17 | 30 |43 | 60
AR5-40RF (LF) 34,800 115 81| 60| 4| 11| 40 M40X1.5/M5X0.8|M5X0.8|[]15| 35| 7| 18| 15/ 16| 9|2-6.6/ 23 | 38 | 50 | 65
AR5-50RF (LF) | 36,400 167|115| 90| 4| 9| 50M50X1.5/Rc1/8 |Rci/8 |[]19| 50| 8| 32| 25|22 | 13| 4-9 |30 | 50 | 60 | 80
AR5-60RF (LF) 42,600 167|115] 90| 4| 9| 60M60X1.5/Rc1/8 |Rci/8 |[119| 60| 12| 32| 30|22 | 13| 4-9 |40 |58 | 66 | 85
AR5-80RF (LF) 54,600 226/159|129| 5| 12| 80|M80X15|Rc1/4 |Rci/4 |[125| 75| 15| 41 35|25 | 14 |4-11|55 |75 |88 |110
AR5-40RS (LS) 50,400 139| 97| 75| 4| 11| 40 M40X1.5 M5X0.8|M5X0.8|[(]19| 35| 8| 22| 15
AR5-50RS (LS)| 55,200 |176|124/100| 4| 10| 50M50X1.5/Rc1/8 |Rci/8 |[]19| 50| 8| 32| 25
AR5-60RS (LS) 61,500|197|135/110| 4| 10| 60MB0X1.5/Rc1/8 |Rci/8 |[125| 60| 10| 36| 30
%R (RF*RS) 3AEEA. L (LF-LS) $EmEMA,
#o#h| AR5-20R (L) |AR5-30R(L) |AR5-40R(L) |AR5-50R(L) |AR5-60R(L) |AR5-80R(L)
& ##5 | AR5-20RF (LF) | AR5-30RF (LF) AR5-40RF (LF) ARS5-50RF (LF) AR5-60RF (LF) | AR5-80RF (LF)
Eian — — AR5-40RS (LS)| AR5-50RS (LS) AR5-60RS (LS) —
1BV 185
BRI EfEES
BAfERAES |MPa 0.7
BRAGAES | MPa 0.4~06
E&EAMT—7 | mm 7 7(8) 8(12) 17 17(21) 23
®WAHZANE—7 | mm 7 7(10) 10(15) 15 15 18
Elés 4 B ’ 902
Fa—7HE | mm 15 20 32 40 50 65
EXbEYRE | mm 8 8 12(14) 15(16) 15(20) 20
0.4MPa| kN 0.049 0.98 0.26 0.42 0.69 117
#3751 |0.5MPa| kN 0.058 0.12 0.33 0.52 0.87 1.47
0.6MPa | kN 0.068 0.15 0.4 0.62 1.04 1.76
g | 2%Y | kg 0.14 03 0.5(0.78) 1.3(1.4) 1.7(2.22) 4.3
7727 | kg 0.22 0.46 0.8 2.4 2.4 5.7
% ( )WTERS (LS) 217,
24 OKH20



ZEISVT

O

Y4 BATINLE R E

9277 -4
B OSVTT7—L(Ya—bv147)
WSA-20~25 L WSA30~50 - H - £
R i A
le] BN I Ll | o rEES [
o= 2 HINCH (MU ISP i I
teF > » F
w o Lol A L
B (48 - ~HER A A
& i % A B © D E F G H | J K L M BRY-Z05E
SA-20 | 2,380 | 32 | 20 7 9 5 | 48 7 | 12 9 | 445 | 35 | M4X0.7 | M3X0.5 | AR5-20M
SA-25 | 2,520 | 37 | 25 7 9 6 | 8 7 | 12 9 | 445 | 35 | M4X0.7 | M3X0.5 | AR5-30M
SA-30 | 2,600 | 47 | 30 10 |O15| 9 | ¢12 7 |¢95 6 | ¢55]| 35 M6 M4X0.7 | AR5-40M
SA-35 | 2,700 | 55 35 12 | 019 | 12 | ¢15 8 |41 7 | 466 | 4 M6 M4X0.7 | AR5-50H
SA-40 | 2,900 | 64 | 40 12 | 019 | 12 | ¢15 8 | 411 7 | 466 | 4 M8 M4X0.7 | AR5-60/
SA-50 | 3,160 | 80 50 15 | [J25 | 15 | ¢20 | 11 | 414 9 | 490 | 6 M10 M6 AR5-80F
B oSUI7—L(@AVIIALT)
WLA-40-50 WLA-55~110
_ LA-558~1108 ~fH - L
; 1 ~H f—L . [ |[JT L/__L
?Ki— © ,,U *Cj; "T”\ Ei K‘:_‘% P ,1_%_ ]Hﬂ i
M
CA N TS R
A k A 1
B g - AR
& i % A B © D E F G H | JJ K L M BRAYY-Z0&E
LA-40 2,520 | 52 | 40 7 9 6 |¢ 8 7 | 12 9 | ¢45 | 35 | M4X0.7 | M3X0.5 |AR5-20f
LA-50 2,700 | 62 50 7 9 6 |¢ 8 7 | 12 9 | 445 | 35 | M4X0.7 | M3X0.5 |AR5-30H
LA-55 2,900 | 72 55 10 | 015 9 | ¢12 7 | 495 6 | ¢55| 35 M6 M4X0.7 | AR5-40F
LA-55S | 3,780 | 75 55 12 | 019 | 12 | 414 8 | ¢11 7 | 466 | 4 M6 M4X0.7 | AR5-40RS (LS) FR
LA-75 3,000 | 95 75 12 | 019 | 12 | 415 8 | g11 7 | 466 | 4 M6 M4X0.7 | AR5-50F
LA-75S | 4,300 | 95 75 12 | 019 | 12 | 416 8 | g11 7 | 466 | 4 M6 M4X0.7 | AR5-50RS (LS) FR
LA-90 3,200 | 114 | 90 15 | (19| 12 | 415 8 | g11 7 | 466 | 4 M8 M4X0.7 | AR5-60FF
LA-90S | 4,900 | 115 | 90 15 | [J25 | 15 | ¢20 10 | ¢14 9 $9.0 | 5 M8 M4X0.7 |AR5-60RS(LS) A
LA-110 | 3,500 | 140 | 110 | 15 | [J25| 15 | ¢20 11 | g14 9 | ¢9.0 | 6 M10 M6  |ARS-80F
B 5IIWIOSIT-T—L
WDA-25-30 . WDA-35-85 ~ H- L
L P 7 Y o 0 /
NAL ( [ —+ gl‘% L L T,J
Pwm:l G B« [ E G €
bk ek P 1 Ple - ’
B8 : c ‘ B : c
A 1 A
B g - AR
m & fli 4% A B (¢ D E F G H I J K L M BRY-Z0EE
DA-25 | 2,700 60 | 30 | 25 — 6 | ¢ 8 7 | 12 9 | 445 | 35 | M4X0.7 | M3X0.5 | AR5-20M
DA-30 | 2,900 70 | 35 | 30 — 6 |¢ 8 7 | 12 9 | 445 | 35 | M4X0.7 | M3X0.5 | AR5-30M
DA-35 | 3,000 84 | 42 | 35 | [15 9 | ¢12 7 |$95 6 | ¢55| 35 M6 M4X0.7 | AR5-40M
DA-50 | 3,160 | 120 | 60 | 50 | [J19 | 12 |¢15 8 | ¢11 7 | 466 | 4 M6 M4X0.7 | AR5-50/
DA-60 | 3,320 | 144 | 72 | 60 | [J19| 12 | 415 8 | ¢11 7 | 466 | 4 M8 M4X0.7 | AR5-60H
DA-75 | 3,700 | 180 | 90 | 75 |[J25 | 15 | 420 11 | ¢14 9 | ¢9.0 | 6 M10 M6 AR5-80F
B U5V 77— LB TER -
AR5-20R (L) AR5-30R (L) AR5-40R (L) AR5-50R (L) AR5-60R (L) AR5-80R (L) @
% |AR5-20RF (LF) | AR5-30RF (LF) | AR5-40RF (LF) | AR5-50RF (LF) | AR5-60RF (LF) | AR5-80RF (LF) o,
= = AR5-40RS (LS)| AR5-50RS (LS)| AR5-60RS (LS) — 3
A 20 30 40 50 60 80 T Tk
B 8 8 12 15(16) 20 20 i
C 8 8 8 9 9(11) 12 !
D 15 15 15 1.5(2) 1.5(2) 1.5 Ol\/
E M4X0.7 M4X0.7 M5X0.8 M6 M6 (M8) M8 ]
0KH20 25



| B V]
B

P
c|
- A
H
% D
EG
Z4h
2~ b
ZI
=
r

i BEI ST

AT oavmBa

Y4 BATINLE B

B v=/Hk—JUR

v MF-5

30
H A
AR\

L;

26

B (4% AR
& fli % A B © D E BRI —-ZXDRE
FN-20 | 3,160 #35 4-5 %1 4 M20X1.0 9  |AR5-20A
FN-30 | 3,700 $45 4-5 %1 4 M30X1.5 9  |AR5-30A
FN-40 | 3,780 $60 4-5 %) 5 M40X1.5 9  |AR5-40H-40RS (LS) A
FN-50 | 4,300 $70 4-6 ¥1) 6 M50X1.5 12 AR5-50F-50RS (LS) A
FN-60 | 4,760 #80 4-8 ¥ 6 M60X1.5 15  |AR5-60M+60RS(LS) A
FN-80 | 5,200 110 | 4-10 %V 9 M80X1.5 20  |AR5-80/
B {48 - ~HER
W % |fi ¥ A|B|C|D|E|F G H| I J K|L M [BRVY-ZO&E
MB-20| 4,400 50| 39|22 | 40|22 |12 [M20X1.0(4 8 | 5 |4-45%|s 6 |4 |4-3.4 %) ARS2E
MB-30| 5,200 65| 50|30 | 55|30 | 16 |M30X1.5¢ 95/5.4 |2-55%1)|4 8 |4.4|4-4.5 %) ARS-30R
MB-40| 5,540 80| 60|40 | 65|40 | 16 [M40X1.54 95/5.4 |2-55%1)|¢ 7 |4.4|4-4.5 %) |ARS-LOB-40RS(LS) A
MB-50| 6,800 95| 75|50 | 75|50 | 19 [M50X1.5411 |6.5|2-6.6 ¥')|¢ 95|5.4 |4-5.5 1) |ARS50R-50RS (LS)
MB-60| 9,460|/110| 90|60 | 90| 60 | 25 [M60X1.5414 |8.6|2-9 |11 |6.5|4-6.6 %) ARG-80E-60RS(LS) A
MB-8010,900|140|115| 75 [125| 75 | 25 |M80X1.54175| 11 |2-11 F|g14 |9 |4-9 XU |ARS80R
B {48 - ~HER
W % |fi | A B|C|D|E|F G H| I |J | #BA-ZXDOZHE
LSN-20(10,000| 40 | 26 | 29 | 15 | 14 | 428 |M20X1.0| 8 | 28 | 20 |AR5-20/
LSN-30(10,100| 49 | 30 | 38 | 19 | 14 | 438 | M30X1.5| 8 | 38 | 30 |AR5-30/
LSN-40 (10,200 56 | 32 | 48 | 24 | 23 | ¢48 | M40X1.5| 8 | 40 | 30 |AR5-40F1-40RS(LS) A
LSN-50(10,300| 66 | 37 | 58 | 29 | 23 | $59 | M50X1.5| 8 | 40 | 30 |AR5-50/:50RS (LS) f
LSN-60(10,400| 78 | 44 | 68 | 34 | 23 | 468 |[M60X1.5| 8 | 40 | 30 |AR5-60M-60RS (LS)F
LSN-80(10,580| 94 | 50 | 68 | 44 | 29 | 488 | M80X1.5| 10 | 40 | 30 |AR5-80/
EFRE > ! :;:* I
BT &
C i 3
5-Rela 9-Rela 1
}B |
W fifiE - HER
; ¥y wm & fli #& | R—bH A B (o] D
i - | AT |
¢ RWY 1l ER MF-5 | 8,000 5 70 38 25 | 5-Rc1/4"
' o5 MF-9 | 10,000 9 130 38 25 9-Rc1/4"
W ffiAs - FiER
w % |fi | A | B | C |D | E | F | G #EAW-ZO&EE
WC-20 |3,000| 6.5|¢24 | -1 |R75 15 | ¢ 9| 8.5 |AR5-20M
o2 | WC-30 [3,160| 65434 | -1 |[R75 15 |¢ 9|12 |AR5-30R
*i*l WC-40 |3,780| 95|¢42 |2 |R 75 15 | 413 |15 |AR5-40M-40RS(LS)A
H T | WC-50 4,100|15 |¢52 | 2.5 |R12.5) 25 | 416 | 15 | AR5-50f-50RS (LS)F
\ ) « WC-60 |4,900|15 |¢62 | 2.5 |R12.5| 25 | $16 |20 |AR5-60f-60RS(LS) A
1.6 — 90 WC-80 |5,700|17.5| ¢80 | 4.5 |R13 | 26 | 421 |30 |AR5-80H

OKH20



X

ZEISVT

Y4 BATINLE R E

. N 5
_ F7avibm
B X)LV W EEIVY IRV
(F5RF v CRA) B ({4 - AR
W ffiE - AR . & F i % a | b | c | R |sw
| =] 1
B & |ffi B dijd2 1 e h|m [ 3 RD-6 |1,940|M6 | 10 | 20 | 20 | 10
_|GHS-8P | 680 M8 |15 |66 |3 |7.6| 5 RD-8 (2,360 (M8 | 10 | 20 | 20 | 11
i |GHS-10P| 760 M10| 18 |83 [3.2|9.2| 6 sw RD-10 [ 2,560 [M10| 12 | 22 | 35 | 17
W EEay U8RIV
(FEAR—ID) B (s iR
- SR ) ‘I_{‘\ s W % (i A% di | d2|d3| | I2 |sw
N _ o]l 4,
dZFIhAT)a pea— ] i [HS-6C |3,860| 13 M6 | 7.2| 13| 8 11
& ) sw |HS-8C |3,860) 13 M8 | 7.2/ 13| 8|11
e vemiows | dh & |l M did2 | | 12 -0 sw wooz o7 |HS-10C| 5,500 | 20 [M10[10.5| 18| 10 | 17
e —+ |HCS-4S | 320 |M4 | — |16 | — |425] 2 - .
- W EEOY ST NRILK
. “ % 1. HCS-6S 540 |M6 [3.2|— |25 #4.0| 3 (LOBER—IUT) .ﬁﬁ*ﬁ’ﬂ'iﬁ?ﬁ
4 & o 4§ % |HCS-8S | 620 M8 |4.5| — |30 |¢55| 4 -
ow s [HCS-10S| 640 M10l6 | — |35 |47.0] 5 SIWm T L= # |fli A didejds) bl sw
el | ¢ [HS-8F |4,980| 13 |v8 | 7.2/ 13| 811
I HS-10F | 6,960 | 20 |M10[10.5/ 18 | 10 | 17
| SW
1,501 12!
B JLF vy IRV IRRIVE W EEIV S IMRILE
(OVI547-FER-) W S - <HEE
W il - AR o T ro | B B M dde| ) [k |s e
B B M T | d | k| b e I@ HSL-8C |4,100 M8 |5.5 36.6 25 | 13 |15
o - _:H_{:Héf GR-6 | 500/ M6 | ¢13 | 12 | 55 S HSL-10C| 5,520 [M10/8.6 45.7| 30 | 17 [19.6
l GR-8 | 600| M8 | 416 | 18 | 68 A
‘ | GR-10| 800| M10 | 420 | 21 | 77 _ .
: ¢ F mpZ LIS TIIAN
(OVT94 7 \LIOBER—ILD) [ Rt - IR p
M O E Ml M di|d2| 1 | h|s|e
. . HSL-8F | 5,520 |M8 |5.5[36.6| 25 | 13 |15
W STRINYE HSL-10F | 7,100 |M10]8.6 45.7 30 | 17 [19.6
ARLZF— L8 B @ig-TiEs 7 ; 645 :
BELTSRAFvIH
& & (i #&|d1 | d2|h1 [h2| t R
= e Y 2RIV
d HCP-6A | 1,300 M6 | 20 |14 |2.5| 5 | 10 (RF—IU) SRR i
- ‘“*‘T‘T HCP-6D | 1,300 M6 | 20 [ 14 [25] 5 |10 ‘
= | |HCP-8A |1,500 M8 |25 |18 |4 | 7 |13 g &M T ¢d !
N2 ' t HCP-8D | 1,500 M8 |25 |18 |4 | 7 |13 {Hﬁ* GS-6S | 560 M6 16 47
= 7+, [HCP-10A/ 1,920 10/ 32 |22 [5 | 9 |17 b1 |GS-88 | 700 Ms 18 57
. ,,\\\j%'HCPJOD 1,920 |M10| 32 [22 (5 | 9 [17 GS-10S| 960| M10 20 74
| DAVES A @AR5-20-30 @AR5-40 @AR5-50+60-80 @ARS5- (RS-LS) #E#&H
N 1 7 ﬁ T
/— A
ﬂj LT .
8 f; e
| S—— — a_/,j
’ ]
E -
o . =1
B /\v*>-0UVI—-Ex :
#m=| AR5-20R (L) AR5-30R (L) AR5-40R (L) AR5-50R (L) AR5-60R (L) AR5-80R (L)
Mm% |#m=| AR5-20RF (LF) | AR5-30RF (LF) | AR5-40RF (LF) | AR5-50RF (LF) | AR5-60RF (LF) | AR5-80RF (LF)
EiaH — — AR5-40RS (LS) | AR5-50RS (LS) | AR5-60RS (LS) —
A PDU-8Z PDU-8Z PDU-12Z (PDU-14) | SER-15(PDU-16) | SER-15(PDU-20) | SER-20 (PDU-25)
B P-11 P-1(S-15) P-20 P-15 (P-24) P-15 (P-29) P-20 (P-36)
C S-14 S-20 (PSD-20) P-26 (PSD-32) P-21 (PSD-40) P-21 (PSD-50) P-26 (PSD-63)
D S-6 S-6 (SWB-20) P-30 (SWB-32) P-34 (SWB-40) P-44 (SWB-50) P-55 (SWB-63)
E (S-20) $-10(S-30) S-36 (S-38) S-46 (S-48) S-58 (5-62)
F P-10 P-10 P-20

% (
OKH20

) REREIERS (LS) Eiama 17T,

27




ZBEISID PR ER

IPRA T 9707

B SR
DS T7—AL(RIF)
e F-/=1:10
f-o5YTH—
H {I\ Q:)z)ﬂg:ji:'—k*
I i Yo
E = 111 HEl 0
i T
2x | B
,; 2— ﬂ“rkr .I ™ 1
57 B\ g N1 o
5N ° $ & :
i H - (@) O
i ”J E o T e
k& 2, = & Eﬁi@\ / )
> %
<7 \Y\ C ‘
9 N2szy hevy—gm
W (A4S - AR
m & fli % a|lb|lc|f|lg|h|i|j|lk|Il|m|n|jo|lp|lag|r|s|t| lu|lv]|w

1873-106/206 | 66,000 120 | 76 | 555/ M5 | M5 |41 | 535| 20 |[112/107.5| 22 | 14 | 54| 35 |M4 | 40 | 22 | 25 | 5.5| 10 |M8
1874-106/206 | 78,000 |143 | 945/ 72 | M5 | M5 [59.5| 63 | 20 |[]16/119.5| 28 | 24 | 68 | 52 |M6 | 55 | 38 | 40 | 6.5| 12 |M8
1875-106/206 | 82,000 |189 |120.5| 99 |G1/8/G1/8/71.5| 88 | 19 |[]20[159 | 42 | 30 | 80| 60 |M8 | 64 | 42 | 46 | 6.5| 12 |M8
1876-106/206 | 97,000 202 130 |104 |G1/8/G1/8|76 | 95 | 18 |[J25(164 | 44 | 38 | 90| 70 |M12| 72 | 48 | 52 | 8.5| 15 |M10
1877-106/206 | 131,000 |239.5/150 |118 |G1/4/G1/4/80 |100 | 18 |[130[197 | 58 | 42 |[106 | 85 |M10| 86 | 66 | 70 | 8.5| 15 |[M10

W {1k
B E AEE 1873-106 1874-106 1875-106 1876-106 1877-106
- R 1873-206 1874-206 1875-206 1876-206 1877-206
fERRE = EfEE5R
RAERES MPa 0.7
RIEERAES MPa 0.3
EEZZANO—2 mm 7.5 9.5 17 18 23
W ANO—2 mm 7 9 15 15 18
A E i 90+2
Fa—-TRE mm $20 $32 $40 $50 $63
EXr Oy mm 4 8 $12 $16 $20 $25
proues Z[£0.4MPa | kN 0.10 0.28 0.42 0.66 1.05
(EBEa1AE) ZZFE0.5MPa kN 0.13 0.35 0.53 0.82 1.31
ZZ[£0.6MPa kN 0.16 0.41 0.63 0.99 1.58
g5 B kg 0.35 0.8 1.3 2.0 3.33
B EHIS5YTHE L
. 1874-106/206 I? 1876-106/206 % .
1873-106/206 Vax 957 P—Lig 0 EAL(m) 1875-106/206 L Max 757 P—bED A L{mm) 1877-106/206
L . W) 120 90 72 60 52 KN(keh) \op 120 95 78 68 ;
o Max7g;/7172—l-usg:)ﬁfsl.(mm4)z F 0.4(40.7) ) ] l? 0.9(91.7) / KN(kgh) Max::y:’?%i;mm;o F
0.16(16.3) / k) Max,f;‘/?';;l.\iﬂ)i:;(mzl 0.8(81.5) 4 1.6(163.1)
0.14(14.2) 0.3(30.5) /’ 0.6(61.1) / 0.7(71.3) // 1.4(142.7)
012(12.2) R /‘ 0.5(50.9) 0.6(61.1) A 12(122.3)
1z 0010 12 02(203) 17 0.4(40.7) 12 0.5(50.9) 12 1.001019)
g 008 (8.1) % / & 03(305) /‘ = 04(407) ﬁ 08 (815)
1T 006 (61) ®o10100) T o220 1 43305) 1 o5 611)
0 MPa 0 MPa 0 MPa 0 MPa 0 MPa
0 03 04 05 06 07 0 03 04 05 06 07 0 03 04 05 06 0.7 0 03 04 05 06 0.7 0 03 04 05 06 07
=z K z E z E z K z E

28 OKH20



BIEISIT FiEAALEBa

IFRALT 9907

W SN

/ 952 T7—LEIF)

=55 Tk—h
9=7YISY TR~k

//
FoEHU— 7N {/
TRy MY —IE) el
m

| Kl R b

m & fli % a|b|c
1873-103/203 58,000 |120 | 76 | 48
1874-103/203 67,000 143 | 945| 61
1875-103/203 70,000 |189 (1205 84

1876-103/203 | 78,000 |202 |130 | 85
1877-103/203 | 95,000 |239.5|150 | 91

f g h i k | m n o p r s t u

M5 | M5 | 6 751121035/ M40X1.5| 14 |60 | 44 | 40 | 25 |12.8| 4.5
M5 | M5 | 6.5/11 |[]16|1195/ M52X1.5| 24 |68 | 54 | 52 | 36 |15 | 4.5
G1/8|G1/8| 85|15 [[J20[159 |M60X1.5| 30 |80 | 62 | 60 | 42 |22 | 45
G1/8|G1/8|10 |19 |[125]|164 |M70X1.5| 38 |90 | 72 | 70 | 48 |23 | 5
G1/4|G1/4|13 |27 |[J30]197 |M85X2 42 1106 | 86 | 85 | 66 |30.3| 5

DSERCERCERCEECEEN )

| Khxid
5 & EM0#E | 1873-103-105 | 1874-103:105 | 1875-103:-105 | 1876-103:-105 | 1877-103-105
. £H#E | 1873-203-205 | 1874-203:205 | 1875-203:-205 | 1876-203:205 | 1877-203-205
fER R = EMEER
BRAFEREA Mpa 0.7
REFERED Mpa 0.3
ElEEAO—%5 mm 7.5 9.5 17 18 23
A ZNO—2 mm 7 9 15 15 18
BlEAE ° 90+2
EXR AR mm $20 $32 $40 $50 463
EXr Oy mm 4 8 $12 $16 $20 $25
P ZE0.4Mpa| KN 0.10 0.28 0.42 0.66 1.05
(325 () Z2E0.5Mps | KN 0.13 0.35 0.53 0.82 1.31
Z[E0.6Mpa| KN 0.16 0.41 0.63 0.99 1.58
B2 = | 2308 kg 0.3 0.6 1.0 1.5 2.6

%103-105(3 5@ &M, 20320513 A ESERH,  %103-203% (M FEER . 105-205(20-V > J kK

B EMNISVTHER
1874-103-203+105+205 1876-103+203 105+ 205
1873-103+203+ 105 205 Max.2 5> 77— LENREL (mm) Max.s 5> 77— LEDEEL (mm) 1877-103-203- 105+ 205
Max 52 77— LS OB () o,:b(‘i;f;; 120 90 72 60 52 L ST 0_;’;‘;:‘“;; 158 120 95 78 68 L Max 25> 7 P — LEDREL (mm)
iy B T2 % 8 a2 L // N kg?:l)ax?ﬁ‘/?'?'—AiZV)EéL(mm) 08(815) I/ e o a0 12 o2 B0
ki
0.14(1422) 0.3(305) /' 06(61.1) —re 0 80 68 56 L 0.7(71.3) // 1.4(142.7)
012(122) % 0.5(50.9) V4 06(61.1) / 12(1223)
R R / R R N
Z010(10.1) 120.2(203) / T o.4(40.7) 12 05(509) Z101019)
Eoman % 33:0.3(30‘5) /4 %n.n(m.v) 7:;‘0.8 (81.5)
06 (61) Tor10m 20203 T o30308) LTRORN
0 MPa 0 MPa 0 MPa 0 MPa 0 MPa
0 03 04 05 06 07 0 03 04 05 06 07 0 03 04 05 06 07 0 03 04 05 06 07 0 03 04 05 06 07
z FE z E z E z E z E

OKH20 29



=ZBFEITST FEATALE RS

IT7EIN-9507
| K
A & 7’7‘:%-yl~ ® B A W T A =
EXMHR | FHT (kN) [ FH2 (kN) | FST(kN) | FS2(kN) | kg
70/AP3| & 0.7 1.45 0.5 0.75 0.5
70/EP3| & 0.7 1.45 0.5 0.75 0.5
B 125/AP3 i 1.6 3.0 0.7 1.2 0.7
§$ 125/EP3 | % 16 3.0 07 | 12 0.7
5 % 200/AP3| & 2.2 35 0.9 15 1.07
=N 200/APM| % 2.2 35 0.9 15 1.07
gau/ 200/EP3| & 22 35 0.9 15 1.07
r 200/EPM| #& 2.2 3.5 0.9 15 1.07
300/AP3| & 2.7 45 1.2 2.4 2.1
300/APM| & 2.7 45 1.2 2.4 2.1
300/EP3 i 2.7 45 1.2 2.4 2.1
300/EPM| # 2.7 45 1.2 2.4 2.1
400/AP3 i3 3.0 6.4 1.4 2.6 3.1
400/APM| # 3.0 6.4 1.4 26 3.1
400/EP3| & 3.0 6.4 1.4 26 3.1
400/EPM| # 3.0 6.4 1.4 26 3.1
W SV E v U7— LB v YUy R7—LE
«*y’w vy p— 204t IV ML — 154
4/.,\'/ —
FS1/ [IFs2 ﬁ
oo o B
'-‘!i' | Lﬁ‘i\‘. gn 2‘ =
=R - 1Er— ==
| ~
Pt | RO = - o
F
. D] A AVH Y ML MEEE
I H

© fies Q- -
Q
R FUOSYIR—b  OSVYTH—b
FARHRD IV MRLY—
W {fiAS - AR
% % |fi#% )  A|B|C|D| E|F |G| H/ I M| N|Oo| P | a B s
70/AP3 (20,000 163 | 50 | 21 |38 | 42 |92 | 24 | 15 | 7 | 55| 11 |4 | — | 5 | 45 |1/8"| 20
70/EP3 20,000 163 | 50 | 21 | 38 | 42 |92 | 24 | 15 | 7 | — | 11| 4 4 5 45 18| —
125/AP3 | 25,000 |200 | 705 30 | 50 |475/150 | 29 | 19 | 8 | 65| 14 | 45| — | 6 | 55 | 1/8"| 23
125/EP3 | 25,000(200 | 70.5| 30 | 50 |475[150 | 20 | 19 [ 8 | — | 14 [ 45| 5| 6 | 55| 18" [ —
200/AP3 | 28,000 [246 | 80 | 36 | 67.5| 53 |164.5| 32 | 20 |11 | 85 18 | 55| — | 8 | 65 | 1/8" | 40
200/APM | 37,600 [246 | 80 | 36 | 67.5| 53 |164.5| 32 | 20 |11 | 85 18 | 55| — | 8 | 65 | 1/8" | 40
200/EP3 | 28,000 248 | 80 | 36 | 67.5 53 1645 32 | 20 |11 | — | 18 | 55| 6 | 8 | 65 | 18" | —
200/EPM | 37,800 (248 | 80 | 36 | 67.5| 53 [164.5| 32 | 20 [11 | — | 18 | 55| 6 | 8 | 65 | 1/8" | —
300/AP3 | 37,600 [304.5| 98 | 48 | 785| 74 |1955| 46 | 29 |105 | 105 20 | 85 | — | 10 | 85 | 1/4" | 42
300/APM | 43,400 [304.5| 98 | 48 | 785| 74 |1955| 46 | 29 |105 | 105 20 | 85 | — | 10 | 85 | 1/4" | 42
300/EP3 | 37,600 306 | 98 | 48 | 80 | 74 [1955| 46 | 29 [105| — | 20 | 85 | 8 | 10 | 85 | 1/4" | —
300/EPM | 47,400(306 | 98 | 48 | 80 | 74 [1955] 46 | 29 [105| — | 20 | 85| 8 | 10 | 85 | 1/4" | —
400/AP3 | 53,000 (360 |107 | 54 |1095| 74 [223 | 45 | 32 |11 |13 | 22 |10 | — | 12 | 85 | 1/4" | 66
400/APM | 63,800 (360 |107 | 54 1095 74 223 | 45 | 32 |11 |13 | 22 (10 | — | 12 | 85 | 1/4" | 66
400/EP3 | 53,000 (360 |107 | 54 [109.5] 74 [223 | 45 | 32 [11 | — | 22 [10 | 10 | 12 | 85 | 1/4" | —
400/EPM | 63,800 [360 [107 | 54 [1095] 74 [223 | 45 | 32 [11 | — | 22 [10 | 10 | 12 | 85 | 1/4" | —

30 OKH20



= BEIS YT

IT7RITN-9507

W SR

Y4 BATINLE R E

' HE =
— .
© ﬁrFH z*
A 1 1 n i
W i ° —
s g | RN | BEH | #ith | HE _H_o0 R
EANPE | FH(N) | FS(N) | (ko) il
1000/EP & 10 32 6.5 : S,
1000/EPM| % 10 32 | 65 T 0 ]
2000/EP & 20 38 9.5 9 3 B === “*g—'_'m‘“_ il
2000/EPM| % 20 38 95 | 1 — i j\i“u \
Q
B (g 5EFR PYOSYTR—I U5YTR—b
# % | fi%% | A | B | C D E|F |G |H|I | L | M|N|O|P]|a/l B,
1000/EP  |111,200] 410 [146.5] 80 | 80 | 90 | 157 | 65 | 65 |125| 25 | 20 | 13 | 48 | 102 | 105 | 1/4"
1000/EPM | 129,000 410 [146.5] 80 | 80 | 90 | 157 | 65 | 65 |125| 25 | 20 | 13 | 48 | 102 [ 105 [ 1/4"
2000/EP 124,000 | 490 [171.5] 90 [ 100 [ 100 [ 175 | 70 | 70 |15 | 35 | 20 | 13 | 56 | 112 | 10.5 | 3/8"
2000/EPM [143,000 | 490 [171.5] 90 | 100 [ 100 [ 175 | 70 | 70 |15 | 35 | 20 | 13 | 56 | 112 | 10.5 | 3/8"
v U-7—LE v YUy R7—LE
Y RIyyr—2yft RV SRILS =1 544
FS1  FS2 %‘
K‘Pfé/w
(G Ty
|
| |
|
t o
. {iﬁ TRREHRD IV MRV —
o Wik | R h @ £
= EF eRonm
FH1 (kN) [FH2 (kN) [FS1 (kN) [FS2 (kN) [ (kg)
200/APV3 | # 2.2 35 0.9 15 1.2
200/APVM | % 2.2 35 0.9 15 1.2
200/EPV3 & 2.2 35 0.9 1.5 1.2
200/EPVM il 2.2 35 0.9 1.5 1.2
300/APV3 | & 27 | 45 1.2 24 2.45
300/APVM | & 27 | 45 1.2 2.4 2.45
300/EPV3 = 27 | 45 1.2 24 2.45
300/EPVM | & 27 | 45 1.2 24 2.45
APV3.APVMZLI3U-7 — 4fd, EPV3,EPVMEZVU YR T — L1,
W fiffifg - AR
& & |fi#% | A|B|C|D| E|F|F|G|H|I|L|M|N|[O|P|Q|T gV
200/APV3 | 33,000 149 |210| 7855 [51 |35 |16 | 26 | 16 [145] 85|17 | 3 |34 | 8|65 [595[1/8" | —
200/APVM | 42,000 149 |[210| 7855 [51 [ 35 |16 | 26 | 16 [145] 85|17 | 3 |34 | 8|65 [59.5[1/8" | —
200/EPV3 | 33,000 151 [210| 78 (57 |51 |35 |16 |26 |16 [145| — [17 | 3 | — | 8 |65 [595[1/8" | 6
200/EPVM | 42,000 [151 [210| 78 (57 |51 [ 35 [ 16 |26 |16 [145] — [17 | 3 | — | 8 |65 [505[1/8" | 6
300/APV3 | 43,400 (186 |258 [ 108 [71 [60.5] 48 | 30 | 30 | 28 [16.5[10.3| 20 | 3 |42 | 10 [ 85 [68.5[1/4" | —
300/APVM | 53,000 (186 |258 [ 108 [71 [60.5] 48 | 30 | 30 | 28 [16.5]10.3| 20 | 3 |42 | 10 [ 85 [68.5[1/4" | —
300/EPV3 [ 43,400 [187.5) 258 | 108 [72.560.5] 48 | 30 | 30 | 28 (165 — |20 | 3 | — | 10 [ 85 |68.5|1/4" | 8
300/EPVM | 53,000 [187.5/ 258 | 108 [72.5 60.5] 48 | 30 | 30 | 28 [165] — |20 | 3 | — | 10 [ 85 |685[1/4" | 8
OKH20 31



=BEITISIT FRAANALE RS

I7 329507

W Ry 1T W SN

54 TABSHEIERAS

I ’ &4 TBEUREIR A
BIOE105°

FOE9E”

g
|

=
EZ i :
75 ! ) e !
2~ H é ==
2 ‘ B
F PKS-20/25 PK'S—‘E(\‘E
| R
A = ERZESE| W E | RED HE 5 E 0.4MPa | 0.5MPa | 0.6MPa | 0.7MPa
MPa MPa kN kg kN kN kN kN
PKS-16 | 0.4~0.7 0.8 05 |Am 9398 PKS-16 0.13 0.16 0.19 0.225
PKS-20 | 0.4~0.7 0.8 09 |A% 9359 PKS-20 0.20 0.25 0.30 0.35
PKS-25 | 0.4~0.7 0.8 1.01 |85 3853 PKS-25 0.265 0.33 0.395 0.46
B {H#S - AR
T & i & |[h|l2|ls 131 Is 1:; I7 | Is 121 lio| 11| 2| s | 4| b1|b2|bs|ba|bs|bs|b7|bs|bs|bio|b11|bi2/bi1s|b1s| di| d2 | ds
PKS-16A (B)| 77,000 [123 |% |275/20| 7.510(14| 5 |16]/10[50(57 |16 |12 |26(|32|26|15|62|14|18(12]2.5[2.5/ 5 | 7 12| 2 [M5|M5| 8
PKS-20A (B)| 91,000 [1575119540 | 2514 [15]20| 5 |20|12|60(69[22 |15 |30|39|30|18|75|17|22/15|3 (3 | 6 | 8 |16| 3 |RclsM5| —
PKS-25A (B)| 107,000 (181513547 |28[17 |18/20| 5 |25|16|75|80(23.5175|35|45|35|22|93(20|25(18(4 |4 | 6| 8 |16] 4 |Rets|M5| —
Ny —
XTIy 7
W B - va—hy14T W 5=
10 M5 ¢
N -
_f* P, G = = W [
LL:'/H:J I 4-M5
STTY &
Ho|-©
4 | |®U
Pl - ‘_1__ 2-M5(07E010%0.5)
| = -
Ry @ ’
J K il‘
[ Ruxs B O35V ThR
n g |CRREEE) W E | R HE 8 % 0.4MPa | 0.5MPa | 0.6MPa | 0.7MPa
MPa MPa kN kg kN kN kN kN
PKS-12AS | 0.4~0.7 0.8 0.4 0.26 PKS-12AS| 0.08 0.10 0.12 0.14
B (48 - <R
m & fii % |A|B|C|D|E|F|G|H|I K P R|S|T %
PKS-12AS| 37,400 |105| 25|27 |59 | 20 | 60 |26.5| 15 |10 | 15|12 [ 95/ 10| 6 | 5 | 3 | 2 |75|11 |40 | 15|64 | 10
B OV7 IRV (BIFE) : S 1
a2, TR am | sne | BE | 2R
iﬁi § & mm mm
= HEI27MRIVh RD-5 M5 8 19
2 FEmArJaA>27bKIVk | GF-5 M5 8 38
i f AF-MISRR ANV 490N | GF-5S M5 14 36
] € JdbXxwy 7 498Kk | GR-5 M5 10 44

32 OKH20



& :’EE’?“J?O VRN S

- OosKav¥
W fAE - A
& SL-30 SL-45 SL-65
i & 105,000 | 126,000 | 141,000
DS = EiEER
=AERES Mpa 0.7
BRAGERED Mpa 0.3~0.5
EXRZvO—2 mm 22 28 25
EXR R mm 20 35 50
EXROyRE mm 125 18 25
SR cm? 3.14 9.5 19.6
797 TROT-LAE ° 47.5 45 27
#3475 0.5Mpa kN 0.15 0.38 0.65
##5  0.5Mpa kN 3.0 10 30
2 B kg 0.4 1.4 2.6
B SE
SL-30 SL-45 SL-65
65
215,21 o1 1145
! 30 - 61 - . 7525 25
425
SE e & SE Ty ;‘,: 8 5 @\
- R, 5 —&[ T ,,‘ 3
d ‘ HE k2 @
44 L4
L 125 (Tyos-sﬂ‘%?ﬁ—h) 3-Rei/8
(..Fw | PY55ITH-N)
Y 3 3 . e [T
R - 22 " I
© el g ] Ji =
SL-65L )
M30P1S M45P15 \_;:1/8
LR — g7y 25y TRt—h Aot RV
TERR—NIZSYTRR—k (95VTR=F)
F=hoS5 15— B 5ZR ) w

9
i e =
' N
Q R 4-s
| Eaxi]
= JUERR | ) FANA—-Y o FREAD DHEHE #h GEERE) gE
AR % 1’??’/}":1*
) mm MPa C.C. kN kg
. PMF 0.4~0.7 | ME 4.7 ©F0.5MPa  0.068
NAC-2 20 15 2 - SE 0.55
’ SE 10T | 5EL 3.0 EIOMPa 1.5
W {48 - ~ER
& % | fi % A/ B|c| D E|F|G| H|I|J|K|L|IM|[N|O|P|Q|R| s |T|Uu|lV W
NAC-2 |37,800|30 |14 |35 |85 |52 33|30 | 5 | 11 |45 | 11 |Ret8|Ret8] 3 | 3 |21 | 4 | 39 |M4®& 6| 16 | 5.3 40.3) 8

OKH20 33



& EEEGE“J?" VRN kR

AL T RNV —
W % - A=
G H BT V=70)
Gl ) B 0 O B A ) E | F lmmxio-smgaio-y] I | K | h
SH-1R(L)[10,600/110| 50 | 5 |M16X1.5/M 5X0.8 | 25 | 105 250 |355| 8 |415.410
SH-2R (L)[11,000/135| 58 | 6 |M20X1.5|M 8X1.25 38 | 13.1 30.0  |43.1| 11 | 420,425,430
SH-3R(L)[12,320/ 162 65 | 8 |M25X1.5/M10X1.25| 50 | 16,5 32.0 |48.5| 13 |425.430.440
=3
57 W 7 — LB ERHEE
S~ c
Z
T f
[ ——
a
e ' B ER
d
W SR % : b |®E | a | b | e | 2 e | f | g
80 SH1| 85| 95| 46 | ¢ 8 2 | M6 4
~ " QI |><] SH-2 | 135 | 115 | ¢4 8 | 410 2 M 8 5
%3_@} SH-3 | 16 18 | 410 | 413 | 3 | M0 | 6
——a
Bk
L4 B UM
F A D
[%ﬁl _—\\\\ B [¢] G
s ) s S
! / \
\ 7
_E/ F
i G
1T W
AN ’ A BRI7IV Y
|
. EI,;J; wed)| B | € | D E F o BRI & m
g M4 X0.7 410 1-M4
—— SH-1 9| 18 | 27 | M5X0.8 Mo 10| 10 515 1M6
ﬁ:\ b M8 X1.0 | 14 | 420 2-M8
& SH-2| 15 23 | 38 | M8X1.25 |M10X125 | [ 425 ¢30 | 2-M10
NE M10X1.5 425 2-M10S
) ‘ 17| 25 | 42 M10X15 | 17 | 425 3-M10
. M12X1.25 430 3-M12
' SH-3 | o] a2 | 50 | M1OX135 FMyonizs | 1o $30. ¢40 | 3-M12S
) K M14X1.5 440 3-M14
B 7 —LORS EFERFER (ZE0.6MPa) C R
M
KN SH-3 i
1.2 4
1.0 4
0.80
0.60
0.404 SH-1 SH-2
0.20 :! T
0 20 30 40 50 60 70 goMM
7—LDERE

34 OKH20






